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H=(2x) +1°
{(2x)+ 1}{(2x)2 —(2x)-1+1° }
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3= (4x)’ - 3°
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HA = {( 2 —x)—2}{(x2 —x)— 6}
(x2 —x—2)x? —x—6)
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55 = (2 + 2xfx? + 2x)-2)-3
= (x2 + 2x)2 - 2(x2 + Zx)— 3
= {(x2 + 2x)+ 1}{(x2 + 2x)— 3}
:(x2 +2x+1Xx2 +2x-3
=(x+1)2(x—1)(x+3)

=(x+2)( 2 _2x+4 x—l)(x2 +x+1)
= x+2)(x—1)< 2 2x +4)x? +x+1)
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’ﬁ-iﬁzx(y—l)—y+1
=x(y-1)-(y-1)
=(r-1y-1)
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5 =alb—d)+bc—cd
=alb—d)+clb-d)
=(a+c)b-d)
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5iﬁ=3y(x—5)—x2 +25
=3y(x—5)—(x2 —25)
=3y(x—5)—(x—5)(x+5)
=(x=5)3y -~ (x +5);
=(x—5)(—x+3y—5)
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L7235 T, b IZ DWW T IUZT IR SN D,
53 =bla® —1)+a> -1
(o -1)p+1)
=(a+1)fa-1)b+1)
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L35 C, e oW TEEIIUET IR SN D,
53X =2¢(a+b)+a® +2ab+b?
=2c(a +b)+(a+b)2
=(a +b){(a +b)+ 20}
=(a+b)(a+b+2c)
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L35 C, e iV TEEIUET IR SN D,
5ﬁ=c(b—a)+a2 —2ab+b?
c(b—a)+(b—a)2

b—a){c+ (b—a)}

(b—a)(—a+b+c)

(a—bfa-b-c)
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X y+4 —» (y+4)x
X >< 2y-3 —>» (2y—3)x
x? (y+4)(2y—3) (3y+1)x
FoT, H5R=(x+y+4)x+2y-3)
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B =x>+By-6x+2y* —11y+5
=x2+(3y—6)x+(y—5)(2y—1)
X y=-5 —» (y—S)x
X >< 2y-1 —>» (2y—1)x
¥ (v=4ay-1) By-6h
FoT, H5X=(x+y-5Nx+2y-1)
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B =x?+(-2y-Ix+y* +y-2
=x?+(-2y-1x+(y-1)\y+2)

£ ) — (i
. X (2 —» (y+2)

=

2 (-)y+2) (2y-1n
EoT, Bl ===+ 2p=(r-y+1)fx-y-2)
B
Gat=(? — 204 y?) - (x-y)-2

(x=y) —(x-»)-2
x =)+ 1H(xr-»)-2}

(x y+1)(x y - 2)
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X ITOWTHER 5 &,
B3 =2x? +(5y+4)x+2y2 -y-6
=2x +(Sy+ 4+ (y-2)2y +3)
2x y—2 —» (y—2)x

X >< 2y+3 —>» (4y+6)x
x? (y—2)(2y+3) (5y+4)x
FoT, 5X=0x+y-2)x+2y+3)
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XAZOWTHEHET S L&,
5ﬁ=2x2+(y+7) —yr-5y—4
=2x2+(y+7x y2+5y+4)

=2x2+(y+7)x (y+1)(y+4)

2x —(y+1)—> ( l)x
X >< y+4 —>» (2y+ )x
x? —(y+1)(y+4) (y+7)x

LT, 5ﬁ={2x—(y+1)}(x+y+4)=(2x—y—1)(x+y+4)
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X ITOWTHEHT 5 &,
53 =252 + (Sy— 1 - (3y> ~ 11y +6)
=2x> +(5y—1)x—(y-3)3y-2)
2x —(y—3)—> (—y+3)x
X >< 3y-2 —» (6y—4)x
¥ =(r-3)By-2) Gy
Fo7T, H5X=x-(y-3)(x+3y-2)=2x -y +3)fx+3y-2)
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alZOWTHEHET 5 &,
’ﬁ-iﬁ—az( —c) a(bz—cz)+bzc—bc2
a (b c) ( —c)(b+c)+bc(b—c)
b- ){a —a(b+c)+bc}
(b—cla—-b)a—c)
=—(a—b)(b—c)(c—a)

)
H3:={a+b)a+c)b+c)+abe
{ 2 b+c)a+bc}(b+c )+ abc
a*(b+c)+ (b+c) a+be(b+c)+abe
=a*(b+c)+ a{(b +c)2 +bc}+ be(b +c)

b+tc —» (b+c)2a
a(b+c) >< —> bca

a(b+c) b(b+c) {b+c) +bch
£oT,
(a+b+c){a(b+c)+bc}=(a+b+c)(ab+bc+ca)
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(x* +4x7 +4)- x2
(x2+2) —x’
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5 =x* +4x%)? +4y4)—4x2y2
:(x2 +2y2)2 - (20)
:(x2 +2y° —2xyXx2 +2y° +2xy)
:(x2 —2xy+2y2Xx2 +2xy+2y2)
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R ={x-1)x - 7)H{(x-3)x-5)}+15
= {x? —8x)+ 7H{x* - 8x)+ 15}+15
= (x* - 8xf +22(x? —8x)+120
= {x? = 8x)+ 10}{x? - 8x)+ 12}
=(x2 —8x+10Xx2 —8x+12)
—(x2 —8x+10fx—2)x—6)
= (x=2)(x - 6)x* —8x+10)
2
R ={x+1)x = 5)H{(x - 1)x-3)}+12
{2 - ax)-sfx? - ax)+3}+12
=(x2 —4)()2 —2(x2 —4x)—3
= {( : —4x)+1 (x2 —4x)—3}

=(x2 —4x+1Xx2 —4x—3)
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5 =(x+y)
2
5 =(2a) +3(2a) (- b)+32a)-b)* +(-b)
=(2a —b)3
e
@ +b*=a’ +b* +3abla+b)DEHHLEETH 5,
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B =x*(x-5)-4(x-5)
—(x—5)x2 -4)
=(x—5)(x—2)(x+2)

2
H = (8x3 + 1)+ (6)62 + Sx)
=(2x+ 1)(4x2 —2x+ 1)+ 3x(2x +1)
= (2x+1){{ax? — 2+ 1)+ 34}
—(x+1)dx? +x+1
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ZIZHOWTHEHET S L,
5ﬁ=z(4y2 —xz)+x2y—4y3
z(4y2 —x2)+ y(x2 —4y2)
¥ -4y |y -z)
=(x+2y)x—2y)y-2)
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bIZHOWTHEHE TS L

ﬁ*it:b(az —c)—a4c+2a202 -
=b(a2 —c)—c a’ —2azc+cz)
=b(a2 —c)—c(a2 —0)2

—(a® = cfp-cla® - )}

=(a2 —ch—azc+c2)
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5 =(a+ b){(a +b) — 3ab}
=(a+b)(a2 —ab+b2)

=a’+b°
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5‘5&:( ) —3ab(a+b)+c —3abc
={a+b }—3ab(a+b)—3abc
={(a+b)+c} —3(a+b)c{(a+b)+c}—3ab(a+b)—3abc
=(a +b+c) ~3(ac +bc)a+b+c)-3abla+b+c)
=(a+b+c){(a+b+c)2—3ac—3bc—3ab}
=(a+b+c)(a +b* +c? ab—bc—ca)
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